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Characteristic Parameter
Operating principle laser scattering

Detection1,2

PM2.5 and PM10

Output datal, 2

PM2.5 in pg/m3 and PM10 in yg/m3

Concentration range

0 pg/m3 to 1,000 pg/m3

Accuracy (at 25°C £5°C):

0 pg/m3 to 100 pg/m3 +15 pg/m3

100 pg/m3 to 1000 pg/m3 | £15 %

Response time <6s

Supply voltage 5V 0.2V

Standby current (at 25°C

+5°C) <20 mA

Supply current (at 25°C

+5°C) <80 mA

Temperature:

operating -10°C to 50°C [-14°F to 122°F]
storage -30°C to 65°C [-22°F to 149°F]

Humidity (operating and
storage)

0 %RH to 95 %RH non-condensing

Output protocol3

UART; baudrate:9600, databits:8, stopbits:1, parity: no

Operating time:
continuous mode
intermittent mode

20,000 hr
depends on duty cycle

Laser class

Laser Class 1: IEC/EN 60825-1: 650 nm

ESD

+4 kV contact, £8 kV air per IEC 61000-4-2

Radiated immunity

1 V/m (80 MHz to 1000 MHz) per IEC 61000-4-3

Fast transient burst

+0.5 kV per IEC61000-4-4

Immunity to conducted
disturbances radiated
emissions

3V per IEC61000-4-6

Radiated emissions

40 dB 30 MHz to 230 MHz; 47 dB 230 MHz to 1000 MHz
per CISPR 14

Conducted emissions

0.15 MHz to 30 MHz in compliance with CISPR 14

1 PM2.5 is particulate matter <2.5 ym in diameter; PM10 is particulate
matter <10 um in diameter.

2 PM10 in pg/m3 is calculated from PM 2.5 readings.

3 Contact Honeywell for other output options.

PN 4




HPMA115S0 {ulta5n99a9ue1NIAR AL IUNAANLULIAAME A

NNTANRANTULTRT

HPMA11530 ldn1simensecnunainaesseunss USART wuy TTL Taaldnng

Fudedayaumsn avadnsainmiiniiily Host azudhadavlsniayandala 19T

=

v

HPMA11580  @sviutihwiily  Slave  uazazmaundufosmssdayandiun iz

darvunuazgluuusniayalunisdeasfa

® Baudrate = 9600bps
® Data = 8 Bit
® Parity = None

® Stop Bit = 1

Read Particle Measuring Results

Command | HEAD | LEN CMD Data (6 Example
Length
(Bytes)
Send 0x68 | 0x01 | Ox04 | NA CS = MOD 68 01 04 93
((65536-
(HEAD+LEN+CMD+DATA)), 256)
Response, | O0x40 | Ox05 | 0X04 | “DF1,DF2, DF3, DF4 | CS = MOD 40 05 04 00
Pos ACK PM2.5 = DF1 * 256 | ((65536- 30 00 31 56
+ DF2 (HEAD+LEN+CMD+DATA)),
PM10 = DF3 * 256 | 256)
+ DF4”
Response, 0X9696
Neg ACK

Start Particle Measurement

Command | HEAD | LEN CMD Data (63} Example

Length

(Bytes)

Send 0x68 | 0x01 | Ox01 | NA CS = MOD 68 01 01 96
((65536-
(HEAD+LEN+CMD+DATA)), 256)

Response, 0xAS5A5

Pos ACK

Response, 0X9696

Neg ACK
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Stop Particle Measurement2

Command | HEAD | LEN CMD Data () Example

Length

(Bytes)

Send 0x68 | 0x01 | 0x02 | NA CS = MOD 68 01 02 95
((65536-
(HEAD+LEN+CMD+DATA)), 256)

Response, 0xA5A5

Pos ACK

Response, 0X9696

Neg ACK

Set Customer Adjustment Coefficient

Command | HEAD | LEN CMD | Data (6} Example

Length

(Bytes)

Send 0x68 | 0x02 | 0x08 | DF1: 30 ~ 200 CS = MOD 68 02 08 64

(Default, 100) ((65536- 2A

(HEAD+LEN+CMD+DATA)), 256)

Response, 0xA5A5

Pos ACK

Response, 0X9696

Neg ACK

Read Customer Adjustment Coefficient

Command | HEAD | LEN CMD Data (&) Example

Length

(Bytes)

Send 0x68 | 0x01 | Ox10 | NA CS = MOD 68 01 10 87
((65536-
(HEAD+LEN+CMD+DATA)), 256)

Response, | 0x40 | 0x02 | 0X10 | DF1: 30 ~ 200 CS = MOD 40 02 10 64

Pos ACK (Default, 100) ((65536- 4A
(HEAD+LEN+CMD+DATA)), 256)

Response, 0X9696

Neg ACK

Stop Auto Send

Command | HEAD | LEN CMD | Data Ccs Example

Length

(Bytes)

Send 0x68 | 0x01 | 0x20 | NA CS = MOD 68 01 20 77
((65536-
(HEAD+LEN+CMD+DATA)), 256)

Response, O0xA5A5

Pos ACK

Response, 0X9696

Neg ACK

Enable Auto Send3

| Command | HEAD | LEN | CMD | Data | CS | Example |
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Length

(Bytes)

Send 0x68 | 0x01 | Ox40 NA CS = MOD 68 01 40 57
((65536-
(HEAD+LEN+CMD+DATA)), 256)

Response, OxAS5A5

Pos ACK

Response, 0X9696

Neg ACK

Byte Number | HeadO Head0 Head0

ByteO Head0 0x42 fixed

Bytel Headl 0x41

Byte2 Len_H Frame Length = 2x13+2(data length + checksum length)

Byte3 Len_L

Byte4 Data0_H reserve

Byte5 Data0_L

Byte6 Datal_H PM2.5 concentration (standard particulate matter)

Byte7 Datal_L

Byte8 Data2_H PM10 concentration (standard particulate matter)

Byte9 Data2 L

Bytel10 Data3_H reserve

Bytell Data3_L

Bytel2 Data4 H reserve

Bytel3 Data4 L

Byte14 Data5_H reserve

Bytel5 Data5_L

Bytel6 Data6_H reserve

Bytel7 Data6_L

Bytel8 Data7_H reserve

Bytel9 Data7_L

Byte20 Data8_H reserve

Byte21 Data8_L

Byte22 Data9_H reserve

Byte23 Data9_L

Byte24 Datal0_H reserve

Byte25 Datal0_L

Byte26 Datall_H reserve

Byte27 Datall L

Byte28 Datal2 H reserve

Byte29 Datal2 L

Byte30 CheckSum_H | .... Checksum = Head0O+Head1+Len_H+Len_L+Data0_H+...+Datal2_L

Byte31 CheckSum_L

Data Format (Protocol Length: 32 Bytes)
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